Physics 513							Name ________________________
Vaughan							Practice

Proportional Reasoning

1. For each scenario, state the factor of change for the dependent variable.

a) If A is directly proportional to B and B quadruples, A 	_____________________________

b) If A is directly proportional to B squared and 
B becomes one third it former value, A 			_____________________________

c) If A is inversely proportional to B and B triples, A	_____________________________

d) If A is inversely proportional to the square of
B and B quadruples, A					_____________________________

e) If A is directly proportional to the square root of B and
B is increased by sixteen times, A				_____________________________

f) If A is directly proportional to B squared and B changes
from a value of 80 to 20,  then A				_____________________________

[bookmark: _GoBack]2. In each equation, A is the dependent variable and B and C are independent. In each, k is a constant. In the first column, state how A is dependent on B. In the second column, state in words how A is dependent on C. (HINT: You might want to solve for A first!)

				A vs B						A vs C

a) AB = kC		________________________		_______________________		
b) A/B = kC		________________________		_______________________

c) AC = k		________________________		_______________________

d) C2 = kA/B2		________________________		_______________________

e) AB2C = k		________________________		_______________________



